LX120H/LX120Twin

Service Information

POWERTO THE MUSICv
www.laney.co.uk




R19

—
100K
CD4069UBE

Drive Channel

22N 100v 220K

CD40BOUBE ik CD4069UBE

C18
100N 63V
100KABSD

R29

Max On/Off

IR28 =3
10K | [6K8 100N 63V |C25

Tape/CD In

sK2
R31 Top R43

G D8 w
1N4148
Master Volume

Q
[ 2N3819
2ok L
S S

“IN3
0RO

100N 63V

FootSwitch
0, 0; ojsks Hard wire on top side of pcb
SIACK
Z -15v

R16
10K Cl11

G A A 100N 63V

! g

D4
V9 ZD0.5SW

6
'SW1A 'SwiB
WP,/ 26WPS Channel Select

FXSEND

LN12
0RO

G
LN14
0RO
HD Gz G
& -15v
TO OUTPUT PCB a 15y
) 3
9353/9391 SJ&SMRSW S ‘WSOV 1()0N63V T sy IR49
2 j4K7
ot—C—F S T
(o g 9 ®oLD13
HDGWL AW Dlgi,cw LED3MMR
. 15V ZD13W 47” ov IwuN 63V & Power
i NOTEA ij ‘ G G Tmu 16V
{ ; ) G

+5VDSP

DSP Program Select
Programming Header sw3
HD2

1 16PGRY
) H
PTAL 4
PTAZIRQ 7| or0
P1aa
Pia (@) Y
PTASIOSC
%—4+5VD5PLN15 ¢
|+15v
@f-15v 0RO
oft>6
FX Retumn FXRETURN
Fxsend (@) FXSEND
HDL

Indicates safety critical component
Must only be replaced with approved type

NOTE: 65W PRODUCTS / R51 = 270R
i NOTE: 120W PRODUCTS/ R51 = 330R

NOTE: All resistors to be 1/4W unless otherwise stated
NOTE: All capacitors to be rated at 16V or higher

Title: 65W/120W GUITAR PREAMPLIFIER | SteelPark Road

Coombs Wood

Size: A3 ‘ Number: 9387 Revision: 6 | Industrial Estate West

Date: 16/05/2006 Time:16:26:39 | Sheet 1 of 1 Uﬁ'esowe”
Original File: 9387_6.Sch www.laney.co.uk

Laney

FOWER TO THE MUSICI

6 [ 7




1 2 3 4 5 7 8
HARDWIRED SOCKET
+40V-40V Wired Direct to Output PCB Y
O O T
HD1 x s FX Send
1 [
et R g
MPSAQ2 57 =7
To Preamp PCB |9 ISAP16N 9]
© R10 56 | 2 g
— & Extension Loudspeake
) 2K2 CL0100N 63V I . !
HD6WL =1 s MPSAQ2 - — ! D007 3 C Okt ks
x x MIACKGS) a1 - 100K lTestPuintl h T
=
FX Return 100R 100R LT 5
OFFSET ADJ R14 R24 I
v VRL 58 MPSA42 D lNAMBG DR225 10R 2W5
Gi cL 1KH Sp4
R o|[12Y263v Tor | W MPSA®Z s RIS A SpADE4S [(]
iral 0+ Nwpsagee AT, 0RO K o7 coIL20T
D2 C2  []re s L_R8 L+ c11 RoL .
sv9 2005w T 10K o T 2u263v I 08225 £18 SPADE4.8
1 & 4TP SOV BIAS ADJ [VR2 AT -
o1 3V9 ZDO5SW w¥ov [470RH R23 =
N3819 / G \ 10R 25 IS
Gl R6 510 Frooke obNais c
Gmu 'O-QON 100R Y 7 o
2
i ’ MPSAQ2 o ol 3
1N4148 G Gi wb7 _ P >
i . TS8 3 o 1N4148 | TTes!Polan E : E
'Efloou 2v — 1 — Y . -
Gmu MPSA42 thi1s —Lce 100P 100V 0RO C13 100N 63V 'y | e
10K T 1U 63V TS N9 I N4007
o MPSA42 L ISAPL6P
Gmu R7 0RO I TS11 R28  []R29
Gmu 220R 220R | |oR22 5W
LN3 LN8
oro T 0RO 1 X
-45V2 -45v
—
Mains Transformer
230V = 5600-2050B
120V = 5600-2052B NG
— +45V
MAINS FUSE 230V =T2A L, 115V = TSA L T R26
‘ Mains In ,J_—, _L oV {+a0v
— +
IEC Inlet AF Mains Switch , . . . A S5 o cie
use AC Line(Live), W D11 ¥ D10 gRr1 2700U 63V 100N 63V
DE4S fiN4007 14007
Green/Yellow| §Bf l C
Fuse Integral to IEC ! i v
E v v v
Chassis White (Blue) Transformer Primar §B§DE48 © 6A 200V ¢ + C12 C8 ¢
Y MAINS TRANSFORMER 100N 63V
SPADE48 —|_47°°U Y
These items not on pch R25 g
[ S — S — J_ Lt L
-25v -45V2 10R2W5
Flame proof resister g
'E'Must u’r)ﬂy be replaced with same type and rating ‘;)RO
NOTE: Gmu
@ Indicates safety critical component Set VRS to give 20mV across TP1 and TP2
Must only be replaced with approved type Refer to service manual before adjusting bias preset
Title: 120W OUTPUT MODULE Steelpark Road
- — Coombs Wood
Size: A3 ‘ Number: 9391 Revision: 3 | Industrial Estate West
Date: 16/05/2006 | Time:16:16:41| Sheet 1 of 1 Uﬁ'esowe”
Original File: 9391_3.Sch www.laney.co.uk POWER TO THE MUSIC
3 4 5 ‘ 7 8




|
i HARDWIRED SOCKET i
+40V-40V + Wired Direct to Output PCB: +45V
| ! 0 0 ! ®
HDI ! g XMI FXSend | RO !
o : l 100R -
RS R11
= i E 1 IKE/IS;SA% 220R 2
To Preamp PCB gj | i KN STDOIN o
G LT T L --d TS2 R10 o
[ — Ts6 o Extension Loudspeaker
© A <10 K0 HMPSA% C10100nF \ 4 Lo E P
HD6WL MP [ ] $ o O \Ol..SK4
MIMJACKG 1 , 100K . =
R R .
FX Return 100R 100R ¥1N4148 R17 TestPoint] =
-45V2 \JTS9 330R T &
OFFSET ADJ ¢ W G — e INdl4S R14 R24 <
VRI MPSA42 RI8 0R22 5W L [T]sP4
Gi Cl 1KH T3 R PH—>G W3 SPADE4.8
R3 2.2uF e | MPSA92 ;s R15 o8 Ll -
ey ° II] TS1 ® . — .a ) > eo oeo Y Y Y\ ® ¢
IK L+ _L NMpsao2 A [ - ORON 0K o7 N COIL20T e
—/ R16 + P
e - lng T —+— | 2 R22 10%2 sW —Lci6 SPADE4.8
' 330R ~<u 220R ‘
D1 . 47P 50V BIAS ADJ VR2 47nF ¢ ) ®
3vo 05w O & : 470RH A N
Ql = Gi o —0 R23 : >
N3819 Y N o Rl';lKg G 10R 2W5 i 8 E
N {;EOIO RE j DS IN4148 v E 7 7”]] SE
R20330R ! O
¢ 5 MPSA92 )| llo lo 0!
1N4148 G Gi !]131\714148 TestPoint2 E g :
==C3 158 R13 4 : =}
+[ 100uF 25V — | | ~ . ¢ | | )\ : @,
33K | | LN4 | 1 . ! O
Gmu MPSA42 thr 1o 6 100pF 0RO C13 100nF DY IR S
10K [ 1uF L | TS5 A N4007
Gmu ! T 1 Na MPSA42 L : STDO3P
Gmu R7 ORO N R28 [IR29
TS11
Gmu 220R 220R | [0R22 5W
1 LN3 LN8
I\ “%k0 I 0RO ¢ 1 2
45V2 45V
Mains Transformer
230V =5600-2050B 3
120V =5600-2052B b
| ORO +45V
MAINS FUSE 230V =T2A L, 115V = T5A L § ¢ T R26 |
Mains In ~ X§AM XCLAM - . 1 T 1+40V
. . : C9
: — —Lc14
126 llaltex AFuse Mains Switch Line(Live)A C+—11 W DIl ¥ DI0  pRr| =T 4700uF 63V 100nF
1 Black(Brown o ‘ IN4007 [IN4007
- Green/Yellow E | gllg/lXDE4.8 | 1 AL(};
1 Fuse Integral to IEC ! | Cls -\ X .
| L 1 EI v A \% v
White (Blue) ~_AC Input (Neutral) g § %?DE4.8 G —IZZOnF R OV (\5, & v
Chassis ~ Transformer Primary MAINS TRANSFORMER | — M 6A 200V —+Cci2 —=C8
LI 1] — 100nF
| SPADE4.8 4700uF 63V
These items not on pcb . R25 140y
S (e 7 ] 1~
A5V _45V/2 1OR 2W5
Flame proof resister [EN7
Must only be replaced with same type and rating VORO
NOTE: Gmu
fi} Indicates safety critical component Set VR5 to give 20mV across TP1 and TP2
SIS GIT7 812 TR EIESte) Tl ETRvE 1o Refer to service manual before adjusting bias preset
Title: 120W GUITAR OUTPUT PCB 8?;1?8;%"53
Size: A3 | Number: 9391 Revision: 4 | Industrial Estate West n
Date:20/12/2007 Time:10:54:08 Sheet 1 of 1 l'jﬂ'esowe”
Original File: 9391.SCHDOC www.laney.co.uk POWER TO THE MUSIC

1 2 3 4 5 6 7 8




LX120H SPARE PARTS LIST

Laney

Model No.
LX120H
SPARES ITEM DESCRIPTION PART No.
Mains Transformer 100V 5600-2058B 120W 100V Mains Transformer 006202
120V 5600-2052B 120W 120V Mains Transformer 006165
230V 5600-2050B 120W 230V Mains Transformer 006164
Reverb Unit On PCB 9383
Switch Power 5A DPDT Rocker Switch 530027
Mains Fuse 100-120V  T5A 20mm Spiral Wound 005531
220-240V  T2A 20mm Spiral Wound 005526
Corner Front/Back |Black Non Hooked Type 007035
Jack Sockets 1/4 Jack Socket - Standoff Type - Stereo 005098
1/4 Jack Socket - Standoff Type - Mono - Gold 005132
1/4 Jack Socket - Standoff Type - Mono 005097
1/4 Jack Socket - Tagged 10004
PCB's 9387 120W Pre Amp PCB Complete 007006
Pots VR1/2/6/7/10 100K Log 6mm Spline 004062
VR5 100K Log 6mm Spline Dual 004073
VR3/8 2K2 Lin 6mm Spline 004063
VR4/9 22K Lin 6mm Spline 004061
Switch | SW1/2 2P2W Push Switch 005017
9391 120W Output Module PCB Complete 007005
9383 DSP PCB Complete 007976
Badge Large Laney Badge 10056
Control Knob 1 Small Chicken Head 005628
2 Small Chicken Head (Flatted for Effects control) 005654
Handle Black Strap Handle 10100
Mains Inlet Socket IEC Mains Inlet Socket Fused 005005
Phono Sockets Stereo Vertical Phono Sockets 005058
Mains Lead Country Dependant
Feet Screw on Rubber Feet 10059
Output / Safety Critical 1 SAP15N Darlington Power (NPN) OBSOLETE 003807
Device 2 SAP15P Darlington Power (PNP) OBSOLETE 003808
1 STDO3N Darlington Power (NPN) Replacement for above 003817
2 STDO3P Darlington Power (PNP) Replacement for above 003818
0R22 5% 5W Emitter Resistor (1 Reqd.for each STD Device) 007036
If you experience difficulty fitting, contact Laney service
3 4700uF 63V Radial Capacitor 002006
4 330R 5W Resistor 001706
5 560R 5W Resistor 001710
Cabinet Minus Loudspeaker Carcass plus fittings LX120H 007117
Manual LX120H User Manual 007118




LX120 TWIN SPARE PARTS LIST

Laney

Model No.
LX120 Twin
SPARES ITEM DESCRIPTION PART No.
Mains Transformer 100V 5600-2058B 120W 100V Mains Transformer 006202
120V 5600-2052B 120W 120V Mains Transformer 006165
230V 5600-2050B 120W 230V Mains Transformer 006164
Reverb Unit On PCB 9383
Loudspeaker Celestion 70 Eighty 16 Ohm 51205
Switch Power 5A DPDT Rocker Switch 530027
Mains Fuse 100-120V | T5A 20mm Spiral Wound 005531
220-240V | T2A 20mm Spiral Wound 005526
Corner Front/Back Black Non Hooked Type 007035
Jack Sockets 1/4 Jack Socket - Standoff Type - Stereo 005098
1/4 Jack Socket - Standoff type - Mono - Gold 005132
1/4 Jack Socket - Standoff Type - Mono 005097
1/4 Jack Socket - Tagged 10004
PCB's 9387 120W Pre Amp PCB Complete 007006
Pots VR1/2/6/7/10 100K Log 6mm Spline 004062
VR5 100K Log 6mm Spline Dual 004073
VR3/8 2K2 Lin 6mm Spline 004063
VR4/9 22K Lin 6mm Spline 004061
Switch  SW1/2 2P2W Push Switch 005017
9391 120W Output Module PCB Complete 007005
9383 DSP PCB Complete 007976
Badge 1 Large Laney Badge 10056
2 Extreme Badge 007069
Control Knob Small Chicken Head 005628
Handle Black Strap Handle 10100
Mains Inlet Socket IEC Mains Inlet Socket Fused 005005
Phono Sockets Stereo Vertical Phono Sockets 005058
Mains Lead Country Dependant
Feet Screw on Rubber Feet 10059
Output / Safety Critical 1 SAP15N Darlington Power (NPN) OBSOLETE 003807
Device 2 SAP15P Darlington Power (PNP) OBSOLETE 003808
1 STDO3N Darlington Power (NPN) Replacement for above 003817
2 STDO3P Darlington Power (PNP) Replacement for above 003818
0R22 5% 5W Emitter Resistor (1 Reqd.for each STD Device) 007036
If you experience difficulty fitting, contact Laney service
3 4700uF 63V Radial Capacitor 002006
4 330R 5W Resistor 001706
5 560R 5W Resistor 001710
Cabinet Minus Loudspeaker Carcass minus L/Speaker LX120Twin 007119
Manual LX120Twin User Manual 007120




	9391-SCH.pdf
	Schematics
	9391.SCHDOC
	Components
	BR1
	BR1-+V
	BR1--V
	BR1-AC1
	BR1-AC2

	C1
	C1-N
	C1-P

	C2
	C2-1
	C2-2

	C3
	C3-N
	C3-P

	C4
	C4-1
	C4-2

	C5
	C5-N
	C5-P

	C6
	C6-N
	C6-P

	C7
	C7-1
	C7-2

	C8
	C8-1
	C8-2

	C9
	C9-N
	C9-P

	C10
	C10-1
	C10-2

	C11
	C11-N
	C11-P

	C12
	C12-N
	C12-P

	C13
	C13-1
	C13-2

	C14
	C14-1
	C14-2

	C15
	C15-1
	C15-2

	C16
	C16-1
	C16-2

	D1
	D1-a
	D1-k

	D2
	D2-a
	D2-k

	D3
	D3-a
	D3-k

	D4
	D4-a
	D4-k

	D5
	D5-a
	D5-k

	D6
	D6-a
	D6-k

	D7
	D7-a
	D7-k

	D8
	D8-a
	D8-k

	D9
	D9-a
	D9-k

	D10
	D10-a
	D10-k

	D11
	D11-a
	D11-k

	HD1
	HD1-1
	HD1-2
	HD1-3
	HD1-4
	HD1-5
	HD1-6

	HS1
	HS1-1
	HS1-2

	HS2
	HS2-1
	HS2-2

	L1
	L1-1
	L1-2

	LN3
	LN3-1
	LN3-2

	LN4
	LN4-1
	LN4-2

	LN5
	LN5-1
	LN5-2

	LN6
	LN6-1
	LN6-2

	LN7
	LN7-1
	LN7-2

	LN8
	LN8-1
	LN8-2

	LN9
	LN9-1
	LN9-2

	LN10
	LN10-1
	LN10-2

	Q1
	Q1-1
	Q1-2
	Q1-3

	R1
	R1-1
	R1-2

	R2
	R2-1
	R2-2

	R3
	R3-1
	R3-2

	R4
	R4-1
	R4-2

	R5
	R5-1
	R5-2

	R6
	R6-1
	R6-2

	R7
	R7-1
	R7-2

	R8
	R8-1
	R8-2

	R9
	R9-1
	R9-2

	R10
	R10-1
	R10-2

	R11
	R11-1
	R11-2

	R12
	R12-1
	R12-2

	R13
	R13-1
	R13-2

	R14
	R14-1
	R14-2

	R15
	R15-1
	R15-2

	R16
	R16-1
	R16-2

	R17
	R17-1
	R17-2

	R18
	R18-1
	R18-2

	R19
	R19-1
	R19-2

	R20
	R20-1
	R20-2

	R21
	R21-1
	R21-2

	R22
	R22-1
	R22-2

	R23
	R23-1
	R23-2

	R24
	R24-1
	R24-2

	R25
	R25-1
	R25-2

	R26
	R26-1
	R26-2

	R28
	R28-1
	R28-2

	R29
	R29-1
	R29-2

	SK2
	SK2-GND
	SK2-SWGND
	SK2-SWTIP
	SK2-TIP

	SK4
	SK4-GND
	SK4-SWGND
	SK4-SWTIP
	SK4-TIP

	SP1
	SP1-1

	SP2
	SP2-1

	SP3
	SP3-1

	SP4
	SP4-1

	SP6
	SP6-1

	TestPoint1
	TestPoint1-1

	TestPoint2
	TestPoint2-1

	TS1
	TS1-1
	TS1-2
	TS1-3

	TS2
	TS2-1
	TS2-2
	TS2-3

	TS3
	TS3-1
	TS3-2
	TS3-3

	TS4
	TS4-1
	TS4-2
	TS4-3

	TS5
	TS5-1
	TS5-2
	TS5-3

	TS6
	TS6-1
	TS6-2
	TS6-3

	TS7
	TS7-B
	TS7-C
	TS7-D
	TS7-E

	TS8
	TS8-1
	TS8-2
	TS8-3

	TS9
	TS9-1
	TS9-2
	TS9-3

	TS10
	TS10-1
	TS10-2
	TS10-3

	TS11
	TS11-B
	TS11-C
	TS11-D
	TS11-E

	VR1
	VR1-BOT
	VR1-TOP
	VR1-WIPER

	VR2
	VR2-BOT
	VR2-TOP
	VR2-WIPER





	LX120H.pdf
	LX120H

	LX120TWIN.pdf
	LX120 TWIN




